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PART-A

gp |Question Option-1 Option-2 Option-3 Option-4 Correct option
1 Both Rangesh Pintoo or and as well as too and GE
are guilty.
2 ?/r\]/T;]((:jr;as’:ate has the largest area Uttar Pradesh  |Madhya Pradesh [Maharashtra Rajasthan Rajasthan
ARG # fohg TST I
2 |awe @ed g & 3ca USRT  |FET YR HERTSE TSTEATT TSTEATT
3 |We had better sleeps sleeping to sleep sleep sleep GE
4 son._ boy in green dress is my The A An None of these |the GE
this time of the year the
5 [mountains are usually covered |During At On In During GE
with ice.
5 Cor_rect. pair of the state and its Nagaland - Jharkh_and - Utt_ar.akhand - C_hattlsgarh " |3harkhand - Ranchi
capital is Shillong Ranchi Nainital Bilaspur
T AR 3T ASTETAT B |ARTS - L 3@ - oG - .
° |mér e ¥ Rreitr FIES -TA R |Pes ST
7 A paper ertten N ONe's OWn Transcript Scroll Manuscript Parchment Manuscript GE
handwriting.
8 |Kusum has a ten note. rupee rupee's rupees' rupees rupee GE
Which of the following Indian . i
9 ) Assam Kerala West Bengal Chhattisgarh  [Chhattisgarh
state is not a producer of Tea?
T J & FlaT T1 ARG . R
S S T 3aH HTe qfead M |SedieTe Bedige
10 PNG (Piped Natural Gas) is Mining Welding Anesthesia Cooking Cooking
used for
queAS (ST aRT qurré ‘
10 [31$ Sepicies 3t T GaleT afesar el el 7 |@TET a1
SEAATA & o grar gl
Which one of the following
11 [Metals is used to heat up the Copper Tungsten Nichrome Tin Nichrome
electric iron?
et A Q@ ol @ arg a1 |
11 |g&d#ATer fdegd 9 o IRA |dlaT careee [GECC fet T
el & T g g7
12 [—= IS the crop V.Vh'Ch . Wheat Jwar Maize Rice Rice
produced mostly in India?
Hr BHT HRA H "
12 | merar 3eue grar 87 T TR HHG el el
13 _Chemlcal ? nergy 1s f:onverted Dynamo Electric Fan Battery Atom Bomb  |Battery
into electric energy in
H wWafas 34l ‘
13 R it 3 aeored ¥ STIAAT faegd gar Cral WA g5 |4
Which Indian company has Reliance
14 [been selected as offset partner Reliance Telecom |HAL BPL Reliance Defense
. Defense
in Rafale deal?
HleT T HRAT HFTir . ‘
14 Rither Sl & 3hde @rlr  |Remad 3% |Remdd eishia |vatud drdroer Remaw fB%a
& & & Tl T B2
15 Wh.ICh Is the highest peak in Kamet Nandakot Nanda Devi K-2 (Godwm K-2 (Godwin Austin)
India? Austin)
AR H SleT A AT Tod : : -2 (IMsfaeT o o
15 |54 20 ki e e e |72 (SR siiee)
16 [Admit means Decide Accept Realise Commit Accept GE
17 A perso_n who rul_e S.WlthOUt Democrat Bureaucrat Autocrat Fanatic Autocrat GE
consulting the opinion of others.
Find the missing number (?) in
18 the series: 11, 20, 38, 74, ? 146 154 128 182 146
11, 20, 38, 74, ? A&l H
18 o FET () A G2 146 154 128 132 146
19 :;233’5— dancing for two did IS have been has been have been GE
. . Western Jammu and . Madhya .
20 | The driest part of India is Rajasthan Kashmir Gujarat Pradesh Western Rajasthan
AR T T8 FETIET qfgerr SFH, AR
20 |o e & TrETTT Fort ISRTT ALY Yo (aREs TeredTe




Through which light can not

21 pass Dark Opaque Obscure pull Opaque GE
22 |A man was trembling. drunk drink drunken None of these |drunken GE
23 |Hertz is the unit of Frequency Wavelength Intensity \(/:vf\:;y of Frequency
23 gt $r PS5 ¢l 3mafa @1 T wears | Jgar T srafa
— ¢ e ers FveaT :
locate receive signal locate .
24 |RADAR is used to submerged from radio dfetect and I.O cate geostationary det.ECt and locate distance
> . distance objects . objects
submarines receivers satellites
Hr aEIHT
= 78 wrt Rdar (R P s feew .
it R T bk MRS SN o S SR S A
Gt & o |& o By g & forx
25 Ganga is a holy river. The A An None of these |The GE
26 |It may heavily. rain rained rains have rained rain GE
In terms of area, India is
27 largest nation in the  |Second Fourth Sixth Seventh Seventh
World.
&A% & B F, ARA . '
27 |faeg & e 957 |qEdr e BX graar IRE |
IS¢ 7l
28 The teacher was_ pleased with at for on with GE
Sanjay.
29 |Itis useless pen. the a an None of these |a GE
30 Who is the Union Minister for Sushma Swaraj |Nitin Gadkari Arun Jaitley Piyush Goel  |Nitin Gadkari
Water Resources?
303!?5'5""*%”;” UAT TaRIST AT T8hd |3190T Sical gy ager  |Afasr s
HAT el g2 S 3
31 The sybstapce hav! ng infinite Conductor Insulator Resistor Electrolyte Insulator
electric resistance is called
9ery S aH 3eded fdedd
31 S, |TTelh FHdTelh EIGRIGED ECrarcIETAE i
g g1 § 98 Fgdd @ > = 3
32 | They may there tomorrow. |goes go went gone go GE
33 |Itis one-rupee note. an the a None of these |a GE
Diamond is Harder than difference of tetrahedral dlfferer!ce of difference of crystalline
34 i structure of crystalline None of these
Graphite because of layers of atom . structure
diamond structure
o . GIATI] Sl gk T [Exsacie]
HITHIIT H hal C A : SAH :
3422;'@‘:%;; U |t THIRT | A aﬁa@?aﬁg Rreeeda smpfar & Brewtar
Reetar H1hid Heetar
35 Our soldiers were_better trained than those than than that those than those GE
of enemies.
36 |Rebate means Loss Compensation Refund Discount Discount GE
37 Smoke of tobacgo is |nJ_ur|0us to Carbon_ Nicotine Polycyclic Hydro Methylene Nicotine
Health because it contains Monoxide carbon
TG Y Wed P | e e e
37 [T i saa " e el (PR
AR g AIATFARS gIS3T HIeeT
How many odd numbered pages
38 |are there in a book of 1089 542 545 544 546 545
pages?
1089 gvaT T T fehdrer #
38 |fawe gsor i FEAT fohcil 542 545 544 546 545
e?
39 \I/r\1/2;'|)s the new Chief Justice of Ranjan Kohli K M Joseph Ranjan Gogoi Dipak Mishra |Ranjan Gogoi
AR T IIT HEI . . .
39 | mametar & (ST FIEA | TH A |G MM sk AT (o M
40 |Obscene means Unwanted Unhealthy Dirty Indecent Indecent GE
Which of the following state is
41 |the largest wheat producing Punjab Uttar Pradesh Madhya Pradesh [Haryana Uttar Pradesh
state in India?
9Rd H e J & &l @
41 [T §e8 3R AET A ISl 3R g AEY G g 3eal eRr
g 3cTee] AT &7
42 Where is Lakshdweep Island Bay of Bengal |[Arabian Sea Indian Ocean None of these |Arabian Sea

located?




$TH U PIg

42 |efeteda e el Tud g2 99Tl o @rsl |3Re PR HRCAT PR 3 et 3R PR
43 yHle— his examination next took will take was take taking will take GE
44 Find the odd one that does not Geometry Mathematics Trignometry Algebra Mathematics
belong to the group
HHg 4 ST 3Heldr g 38T
14 [T E ¢ e [ REUER e (e
T ST
45 |____youaletter last has sent have sent send sent sent GE
month.
46 Statue of Unity s built in the Mahatma Sard_ar Vallabh Jawaharlal Nehru |Veer Sawarkar [Sardar Vallabh Bhai Patel
memory of Gandhi Bhai Patel
TohdT hr GidAT &hr : HER dodld \
4 : — IMeRY STarglerel = Taieh
6 larer 3 etr 1 HTcHT TS e glollel g% [dR Haieh [EIER dJeddl H1E o
47 |Adversity means Crisis Failure Misfortune Helplessness |Misfortune GE
48 |He is expert. the a an None of these |an GE
The brown puppies are the
49 youngest the lot. for among out by among GE
50 |If Bow: Arrow, then Pistol : ?  [Gun shoot Bullet Rifle Bullet
50 |3 R YeqY: AR, I dHT :? |dceh HRAT el TSl LG




g.no Question Option-1 Option-2 Option-3 Option-4 Correct Option
1 The entire hostname has a maximum of 31 characters 63 characters 127 255 characters |255 characters
characters
2|SPC stands for Standard Stored Program  [Signaling Signaling Stored Program
3 A linear collection of data elements where the linear node is Linked list Node list Primitive list [None of these [Linked list
given by means of pointer is called
4|A bubbled NAND gate is equivalent to a OR gate NAND gate NOR gate XOR gate OR gate
c What is the change in the value of transmitted power when the  |100% Remains 50% 80% 50%
modulation index changes from 0 to 1 unchanged
6 A dynamometer Wattmeter can be used for Both D.Cand |D.C only A.C only Any of the Both D.Cand A.C
AC Above
From the point of veiw of safety, the resistance of earthing Low High Medium It does not Low
7|electrode should be affect the safety
8 Which of the following devices translates hostnames into IP DNS Server Hub DHCP Firewall DNS Server
addresses? Server
Bit at position zero is usually referred to Local Bit Least Significant [Most Least Least Significant Bit
9 Bit (LSB) significant  [Significant (LSB)
Bit (MSB) |[Byte
10|Object is ____ abstraction Object Logical Real Hypothetical |Real
Intrinsic semiconductors are those which Are available Are made of the [Have more |Have zero Are made of the
locally semiconductor electrons energy gaps semiconductor
11 material in its than holes material in its purest
purest from from
12|A synchronous satellite orbits the earth once in 24 hours 12 hours 6 hours 1 hour 24 hours
13|A byte consists of 1 bit 4 bits 8 bits 16 bits 8 bits
14|The X-OR and X-NOR gates can have how many inputs? 2 1 4 Any number |2
What will be the result of following expression in JavaScript? (8 undefined 71 521 71
5+2+7°1”
15
16 Association among several entities is called Extraction Relationship Combination |Association Relationship
17 In the IPv4 addressing format, the number of networks allowed (2714 2N 2"21 2124 2721
under Class C addresses is
What is the function of a modem? Encryption and |Converts datato [Converts Serve as a Converts analog
decryption voice analog hardware signals to digitals and
18 signals to antivirus vice-versa
digitals and
vice-versa
The main function of interpoles is to minimize ___ between the |Sparking Friction Current Wear and tear |Sparking
19|brushes and the commutator when the d.c. machine is loaded.
What is the programming style of the object oriented conceptual |[Invariant Algorithms Classes and |Goals, often Classes and objects
model? relationships objects expressed in a
20 predicate
calculus
What is an exception? Problem arising |Problem arising [Problem in |Problem in IDE|Problem arising
21 during compile |during runtime syntax during runtime
time
Which term is used to describe communication where a piece of |[Unicast Broadcast Multicast None of these |Multicast
22|information is sent from one or more points to a set of other
points?
23|Which of the following is a transport layer protocol? DNS HTTP TCP ARP TCP
When the primary winding of a transformer is connected toa dc (It will draw|Primary leakage |Core losses [Primary Primary winding may
24|supply small current reactance is are increased |winding  may|burn out
increased burn out
55 In C programming language, which of the following operator has|Unary + * >= == Unary +
the highest precedence?
26|A 16-square K-map eliminates 2 variables 3 variables 4 variables |8 variables 4 variables
Nickel-Cadmium batteries are preferred than Lead-Acid batteries |these can be their discharge they deliver |All of these All of these
in military applications because easily charged [rate is higher large amount
27 and discharged of power
28| The forbidden energy gap for germanium is 03 eV 35eV 07 eV 112 eV 07 eV
59|—— control signals are used to initiate the data transfer between |DREQ & DACK |HOLD & HLDA |IOR & IOW |OCW & ICW |DREQ & DACK
peripherals and DMA.
30 Which bridge is utilized in signal conditioning circuits for Maxwell Bridge |Wheatstone Wein Bridge [Kelvin Bridge [Wheatstone Bridge
balancing purpose? Bridge
Apogee means The point The point nearest |The point None of these |The point farthest
31 farthest from from earth smallest from earth
earth from earth
Which of the following in not the type of Pop-up boxes available [Warning Confirm Alert Prompt Warning
32|in JavaScript?
33 Which is not a part of refrigerator? Compressor Thermostat switch |Door Lamp (Bucholz relay |Bucholz relay
switch
34| A transistor may be used as a switching device or as a variable resistor |fixed resistor rectifier tuning device |variable resistor




35 Which transmission media has the highest transmission speed in |Coaxial cable  |[Twisted pair cable |Optical fiber |Electrical cable |Optical fiber
a network?
is concerned with realizing a software design using an object-oriented |Object oriented Obiject oriented Object oriented [Object oriented  |Object oriented

36 programming language. analysis methods design programming programming
For a beam of light traveling through media of two different Reflection Refraction Incidence Criticism Reflection
37|densities, if the angle of incidence is greater than the critical
angle,  occurs.
38|Which of the following has S.I unit as Hertz? Charge Force Frequency |Power Frequency
39 Push pull amplifier circuits is used as Power amplifier |Audio amplifier |RF Amplifier{None of these [Power amplifier
40 Which of the following command in DOS is not an external format copy debug None of these |copy
command?
a1 Bank's ATM facility is an example of LAN WAN Mixed Multipurpose |WAN
networking |networking
Digital VVoltmeter (DVM) are measuring instruments that Analog voltage |Digital voltage Both option- [None of these |Analog voltage into
42|convert into digital into analog signal |1 & option-2 digital readout
readout
43 Noise Factor (F) and Noise Figure (NF) are related as (NI): =101logl0 |[F=1010g10 (NF)[INF=10(F) |F=10(NF) [NF =10logl0 (F)
F
44 Which of the following data model describes how the data is Internal model  |External model Logical None of these |Internal model
actuallv stored? maodel
45|The number of address lines and data lines of 8086 are 16 and 20 16 and 16 8 and 16 20 and 16 20 and 16
46 In an analog data acquisition system, the output signal is CRO Plotter Recorder Voltmeter Recorder
captured using
47|The pattern of printed lines on most products are called Price OCR Scanner Bar codes Bar codes
48 The SQL command s used to withdraw privileges on REMOVE REVOKE ROLE GRANT REVOKE
specific user accounts.
49|NMI stands for nonmaskable nonmultiple nonmovable |nonmemorable |nonmaskable interrupt
50|Bus, ring and star topologies are mostly used in LAN MAN WAN Internetwork  |LAN
The most important feature of CMOS family of ICs is High speed Small size Low power [Low input Low power
51 consumption |impedance consumption
What is the purpose of back up protection? To increase the |To increase the To leave no |To guard To guard against
52 speed reach blind spot  |against failure |[failure of primary
of primary
c3 Direction of rotation of motor is determined by Faraday’s law  |Lenz’s law Coulomb’s |Fleming’s left- |Fleming’s left-hand
law hand rule rule
54|The number of cells in a 6-variable K-map is 6 12 36 64 64
55|Sound waves do not travel through Solids Liquids Gases Vacuum Vacuum
c6 In Calorimetric method large amount of the RF power is heat vapour AF power  [None of these |heat
measured by converting into
57|Finding the location of the element with a given value is Traversal Search Sort None of these |Search
A Database Management System (DBMS) is Collection of Collection of data |Collection of |All of these All of these
programs to describing one interrelated
>8 access data particular data
enterprise
59|A 32 bit microprocessor has the word length equal to 2 bytes 1 byte 4 bytes 8 bytes 4 bytes
60 Which failure includes the case of deadlock or resource Transaction System Crash Disk Failure [None of these |Transaction failure
unavailability? failure
61 The highest decimal number that can be represented with 10 512 1023 1024 256 1023
binary digits, is
What are the advantages of arrays? Easier to store  |Used to implement|Convenient [All of these All of these
elements of same|other data way to
62 data type structures like represent
stack and queue  |matrices as a
2D array
A program written in machine language IS easy to runs more slowly |both option- |None of these |None of these

understand and |than a program 1 and option-
63 modify written in high |2
level language
64 Which multiplexing technique transmits digital signals? TDM FDM WDM Both TDM and |TDM
FDM
65 A latch is commonly used to interface input  [interface output  |interface interface DMA |interface output
devices devices memory devices
The current drawn by the armature of DC motor is directly Torque Speed The voltage |Cannot be Torque
66|proportional to across the  |determined
terminals
67 Which of the following frequency range represent audible Below 20 Hz 20Hz-20kHz  |Above 20  |All of these 20 Hz - 20 kHz
frequency range of human? kHz
68 Which among the following can restrict class members to get Private Protected Public All three Private
inherited?
69| The Instruction pointer (IP) is bits in length. 4 16 8 32 16
Viruses, Trojan horses and worms are Able to harm Unable to detect if {User-friendly|Harmless Able to harm
computer system [present on applications |applications computer system
70 computer resident on

computer




What is the main purpose of a communications system? To have a For modulation  |To provide [None of these [To provide an
frequency an acceptable replica of
assignment acceptable the information at the

replica of the destination
/1 information
at the
destination
When determining the efficiency of algorithm the time factor is |Counting Counting the Counting the |Counting the  |Counting the number

measured by microseconds  |number of key number of  |kilobytes of of key operations
72 operations statements  |algorithm
73|ASClI code is a 5-bit code 7-bit code 8-bit code  |10-bit code 7-bit code
_____isaportion in a communications system, which processes |Encoder Modulation Transmitter |Multiplexer Transmitter
74|the information so that it becomes suitable to the characteristic
of the transmission medium.
What is the function of an operating system? Manages Takes care of Manages the [All of these All of these
computer's scheduling jobs  |flow of data
7> resources very |for execution and
efficiently Instructions
26 The ability of the receiver to select the wanted signals among the [Sensitivity Selectivity Stability None of these |Selectivity
various incoming signals is termed as
7 What is the relation in degrees of the electric and magnetic fields |180° 90° 270° 45° 90°
in an electromagnetic wave?
78| The D-flip-flop has inputs. 1 2 3 4 1
The Central Processing Unit (CPU) in a computer consists of Input, output and |Control unit, Control unit, |None of these |Control unit,
processing primary storage |arithmetic arithmetic logic unit
79 and secondary logic unit and registers
storage and registers
The gain stability of an amplifier circuit can be improved by positive negative feedback |both positive [None of these |negative feedback
using feedback and negative
80 feed back
81|Which of the following is not type of class? Abstract Class  |Final Class Start Class |String Class Start Class
In data-flow diagram, __ shows the direction of data flow and |rounded rectangles circles arrows arrows
82|, . o i
their name describing the data flowing along that path. rectangle
83 IMUL is a signed Addition Subtraction Multiplicatio [Division Multiplication
n
a4 When a program is abnormally terminated, the equivalentofa  |[Commit Rollback Quit Exit Rollback
command occurs.
a5 At any given time in an intrinsic piece of semiconductor material |electrons drift  [holes are created |recombinatio |All of these All of these
at room temperature randomly n occurs
86|Commonly used refrigerant in commercial ice plant is CO? Freon 12 Air Ammonia Ammonia
Which of the following methods is used to shield a dynamometer [Meter Meter is housed in |Neutral wire [Meter is Meter is housed in a
type wattmeter against stray fields? components are |a soft iron case connection is |earthed soft iron case
87 made of non- provided
magnetic
materials
In PM the information is transmitted using Change in Change in Change in  |None of these |Change in phase of the
88 frequency amplitude phase of the carrier
carrier
Amplitude modulation is Change in Change in Change in  |Change in Change in amplitude
amplitude of the |frequency of the |amplitude of |amplitude of  |of the carrier
carrier according |carrier according |the the carrier according to amplitude
to amplitude of |to modulating modulating |accordingto  |of the modulating
83 the modulating |[signal signal modulating signal
signal according to |signal
carrier signal |frequency
90 The memory which does not loose its content on failure of power [Main memory |Volatile memory [Non-volatile |RAM Non-volatile memory
supply is knownas _ memory. memory
o1 Which of the following can be represented with a multivalued  [Age Skill Birthplace  [None of these [Skill
attribute?
Compiler can diagnose Grammatical Logical errors only|{Grammatical |None of these |Grammatical errors
92 errors only and logical only
errors
93 The operation of processing each element in the list is known as |Sorting Merging Inserting Traversal Traversal
94 Abstraction can apply to Control and data |Only data Only control |Classes Control and data
95|Static RAM chips consists essentially of Flip-flops Capacitors Diodes None of these |Flip-flops
96| The example of output device is CRT display 7-segment LED  [Printer All of these All of these
97 K-map is an abstract form of diagram organized as a Block Venn Triangle Cycle Venn
matrix of squares.
Linked lists are not suitable for the implementation of Insertion sort Radix sort Polynomial |Binary search |Binary search

98

manipulation




99 Which aggregate function gives the arithmetic mean for the COUNT AVG MIN SUM AVG
specific column?
is a measure of the intensity of sound in comparison to Phon Decibel Pascal Watts Decibel

100

another sound intensity.
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